c
2
5
>
<
o
O
=
c
>
g
=
(7]
(7]
g
a

‘Aljigisuodsad uno Jo Jno si patinaul sainbiy Buipessiw Aue
‘I1s|lym ‘pajuswa|dwi sSadIAep |[enjoe Jsulebe papasau SI UOIIBOILIBA 18yln ‘pPaJapISuod Ajinj 8q Jou }snw ejep adIAISS ||e ‘sannp oyoads jsuiebe
sa0Inap Bunjos|as uayp) "uosuedwod pajie}ap e Joj papiwiad jou ‘Aoeindoe JueAs|al }SOW ay) 10} Japeal ay) apinb 0} papiroid si ejep aaoqe ay |

| 9G6G€.0°0 €898’} €19€0°0 ¥G200°0 AT 680°6¥¢ 6806¥¢°0 | 6%2000°0 68061°¢C 6+7200°0
1G6G°€) | AT vaLley'0 | CESve00 | 9lEGre 98¢€¢ 98¢€'¢ 98€€00°0 6€98°CE | ¥98€€0°0
¥¢Geq0 L86€0°0 | LE€610°0 9€1000 1G6G°€1 ¢ceeel ¢ceeel’0 | €€1000°0 aeeet’l €eelono
89°L¢ ¢09€0°¢ eYLLLS | £0€040°0 L0°€0.L 9.'v689 9.¥68'9 | ¥68900°0 9.¥6'89 G6890°0
10L°€6€ 696'8¢ 699°GEL geccyl | 0000} G'99086 G990°'86 £0860°0 G99°086 990860
LE6E0°0 G68¢00°0 | 9959€.0°0 [ ¢c¥L000 1000°0 l 99086 90860070 860000000 | £00860°0 | 86000000
10¥00°0 620000 G/000 G¥10000 | 6L0L0000°0| £6L0OL0 | 1000 1000000 100 100000
14007 €962°0 10G'L €0svL 0 610100 16101 0001 | 1000 ]2 0100
e9viov €'96¢ ¢9'009. 8e0'ayl L6101l ¢L6101 0000001 000l | 0000} 0l
1430140 €46¢00 0620 Gr100 6101000 L6101l 00} 1’0 10000 | 100°0
ear' Loy €5'6¢ ¢90°09. 8e0Gvl ¢Lelol 2’6101 000001 00} 1’0 000l |
O%H youl OH youl wm_# Isd Mm|w“mm SMWLW NHA\“_z NH.\H__,V__V_ edi\ Jequi Ieq

UOISJSAUO)) U 4NSSaid




